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600V CV-T 100sgmm / 50m (1¢p)
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() 210V-50[Hz]
1¢p 50KVA 1.43 +J2.27
1¢p 500KVA 1.11 +j4.11
R R 3;"& " 3¢ 50KVA 1.81 +j1.31
[RTRF @ TR. _Rct @ c +w 3¢ 500KVA 1.25 +J4.06
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= . 50 KVA =< 1 (TR 50 KVA)
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210V 1¢@3W 50Hz TR=50KVA

L]
L1
0 20 60 80 100 120

1 50KVA
CV-T 100

VD1
—®—— VD4 cosp=1.0
......................... VD4 cosp=095
——%—— VD4 cosp=0.9

—9—— VD4 cosp=08

—&—— VD4 cosp=0.7

1435 % (COS=1.0 )
2039 % (COSp=0.95)
2235 % (COSP=0.9 )
2449 % (COS=0.8 )
2557 % (COSp=0.7 )
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210V 1¢3W 50Hz TR=500KVA

1 50KVA
CV-T 100

VD1
—®—— VD4 cosp=1.0
VD4 cos=0.95
—%—— VD4 cos=0.9
—©—— VD4 cosp=08

VD4 cos=0.7

1179 % (COSp=1.0 )
2343 % (C0Sp=0.95)
2762 % (C0S=0.9 )
3276 % (C0S=0.8 )
3599 % (C0S=0.7 )
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210V 3¢3W 50Hz TR=50KVA
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1 50KVA
CV-T 60

VD1
——®—— VD4 cos=1.0

~ VD4 cos=0.95
——%—— VD4 cosp=0.9

—9—— VD4 cosp=08

—4&—— VD4 cosp=0.7

1.786 % (COSp=1.0 )
2086 % (COSp=0.95)
2153 % (COSp=0.9 )
2185 % (COSp=0.8 )
2156 % (COS=0.7 )

70
6.0
50
40
30
20
10

0.0

210V 3¢3W 50Hz TR=500KVA

1 50KVA
CV-T 60

VD1

—®—— VD4 cos=1.0
VD4 cos=0.95

——%—— VD4 cosp=0.9

—O—— VD4 cosp=08

—8&—— VD4 cosp=0.7

1.314 % (COSp=1.0 )
2452 % (C0Sp=0.95)
2858 % (C0S=0.9 )
3350 % (C0Sp=0.8 )
3654 % (COS=0.7 )

210V 13W 50Hz TR=50KVA =100 210V 1¢3W 50Hz TR=500KVA Lf=100
[ ] il [1] il
Ex E =<

[ ] [ ] [ ] [ ]
1.00 2.315 3.8008 1.4345 3.7495 -1.368 1.00 2.315 3.5731 1.1794 3.4944 -2.252
0.95 2.315 4.5282 2.0392 4.3542 -3.996 0.95 2.315 4.8190 2.3434 4.6584 -3.448
0.90 2.315 4.7100 2.2352 4.5502 -3.512 0.90 2.315 5.2072 2.7623 5.0773 -2.558
0.80 2.315 4.8368 2.4490 4.7640 -1.528 0.80 2.315 5.6141 3.2763 5.5913 -0.408
0.70 2.315 4.8225 2.5566 4.8716 1.008 0.70 2.315 5.8031 3.5987 5.9137 1.870

210V 3@3W 50Hz TR=50KVA Lf=100 210V 3¢3W 50Hz TR=500KVA Lf=100

[ ] il [1] il
Ex Ex
[ ] [1] [ ] [1]
1.00 1.954 3.7244 1.7860 3.7400 0.417 1.00 1.954 3.2823 1.3139 3.2679 -0.441
0.95 1.954 4.0587 2.0864 4.0404 -0.453 0.95 1.954 4.4053 2.4522 4.4062 0.020
0.90 1.954 4.0877 2.1534 4.1074 0.480 0.90 1.954 4.7536 2.8576 4.8116 1.205
0.80 1.954 4.0116 2.1852 4.1392 3.083 0.80 1.954 5.1155 3.3500 5.3040 3.554
0.70 1.954 3.8546 2.1557 4.1097 6.207 0.70 1.954 5.2797 3.6541 5.6081 5.856
(120-1 )
L 10 4




1p3W [KVA]| 50[Hz] [60[ 1  [cv-T100] 50[ 1 | 50 [KVA] 1p3W [KVA]| 50[Hz] [60f 1 | cv-T200| 150[ 1 | 50 [KVA]
Vo1 VD4 vo1 VD4
cos=1.0 | cosp=0.95| cos=0.9 | cos¢p=0.8 | cosp=0.7 cos=1.0 | cosp=0.95| cosp=0.9 | cosgp=0.8 | cosp=0.7
0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000 0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000
20 0.463 0.7760 0.9370 0.9777 1.0062 1.0030 20 0.713 1.0276 1.2879 1.3605 1.4234 1.4369
40 0.926 1.5440 1.8580 1.9371 1.9925 1.9862 40 1.427 2.0441 2.5470 2.6866 2.8072 2.8331
60 1.339 2.3042 2.7633 2.8786 2.9593 2.9502 60 2.140 3.0444 3.7233 3.9052 4.0532 4.0725
80 1.852 3.0564 3.6532 3.8028 3.9072 3.8954 80 2.853 4.0430 4.9819 5.2401 5.4624 5.5101
100 2.315 3.8008 45282 4.7100 4.8368 4.8225 100 3.567 5.0250 6.1592 6.4698 6.7368 6.7940
120 2.778 45373 5.3885 5.6007 5.7486 5.7320 120 4.280 5.9951 7.3107 7.6696 7.9775 8.0435
(1-1/3  (2-1/8 (3-1/8  (4-1/8  (5)-1/8  (6)-1/8 (1)-1/3  (2-2/8  (3-2/8  (4-2/8  (5)-2/8  (6)-2/8
1p3W [KVA]| 50[Hz] [60[ ] | cv-T100| 50[ 1 | 50 [KVA] 1p3W [KVA]| 50[Hz] [60f 1 | cv-T200| 150[ 1 | 50 [KVA]
Vo1 VD4 vo1 VD4
cos=1.0 | cosp=0.95| cos=0.9 | cos¢p=0.8 | cosp=0.7 cos=1.0 | cosp=0.95| cosp=0.9 | cosgp=0.8 | cosp=0.7
0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000 0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000
20 0.463 0.7159 0.9921 1.0799 1.1729 1.2164 20 0.713 0.9692 1.3436 1.4627 1.5891 1.6486
40 0.926 1.4316 1.9700 2.1402 2.3200 2.4039 40 1.427 1.9380 2.6611 2.8895 3.1310 3.2445
60 1.339 2.1446 2.9110 3.1507 3.4011 3.5154 60 2.140 2.8987 3.8966 4.2063 4.5277 4.6728
80 1.852 2.8606 3.8833 4.2034 45398 4.6963 80 2.853 3.8704 5.2191 5.6395 6.0811 6.2877
100 2.315 3.5731 4.8190 5.2072 5.6141 5.8031 100 3.567 4.8321 6.4602 6.9646 7.4929 7.7394
120 2.778 4.2838 5.7410 6.1929 6.6656 6.8848 120 4.280 5.7897 7.6766 8.2577 8.8648 9.1474
(1-2/3  (2-3/8  (3)-3/8  (4-3/8  (5)-3/8  (6)-3/8 (1)-2/3  (2-4/8  (3)-4/8  (4)-4/8  (5)-4/8  (6)-4/8
33W [KVA]| 50[Hz] [60[ 1 | cv-Teo | 50[ 1 | 50 [KVA] 3p3W [KVA]| 50[Hz] [60f 1 | cv-T150| 150[ 1 | 50 [KVA]
Vo1 VD4 vo1 VD4
cos=1.0 | cosp=0.95| cos=0.9 | cosp=0.8 | cosp=0.7 cos=1.0 | cosp=0.95| cosp=0.9 | cosgp=0.8 | cosp=0.7
0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000 0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000
20 0.391 0.7653 0.8388 0.8452 0.8284 0.7938 20 0.455 0.8471 0.9719 0.9962 1.0006 0.9785
40 0.782 1.5201 1.6637 1.6762 1.6434 1.5759 40 0.911 1.6827 1.9256 1.9728 1.9814 1.9384
60 1.173 2.2644 2.4617 2.4748 2.4200 2.3163 60 1.366 2.5057 2.8335 2.8917 2.8901 2.8176
80 1.563 2.9995 3.2734 3.2971 3.2348 3.1061 80 1.821 3.3204 3.7807 3.8698 3.8860 3.8049
100 1.954 3.7244 4.0587 4.0877 4.0116 3.8546 100 2.277 4.1227 4.6830 4.7912 4.8109 4.7124
120 2.345 4.4396 4.8315 4.8654 4.7764 45923 120 2.732 4.9142 5.5690 5.6953 5.7182 5.6033
(1-2/3  (2-5/8  (3)-5/8  (4-5/8  (5)-5/8  (6)-5/8 (1-3/3  (2-6/8  (3-6/8  (4)-6/8  (5)-6/8  (6)-6/8
33W [KVA]| 50[Hz] [60[ ] | cv-Teo | 50[ 1 | 50[KVA] 3p3W [KVA]| 50[Hz] [60f 1 | cv-T150| 150[ 1 | 50 [KVA]
Vo1 VD4 vo1 VD4
cos=1.0 | cosp=0.95| cos=0.9 | cos¢p=0.8 | cosp=0.7 cos=1.0 | cosp=0.95| cosp=0.9 | cosgp=0.8 | cosp=0.7
0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000 0 0.000 0.0000 0.0000 0.0000 0.0000 0.0000
20 0.391 0.6583 0.9051 0.9830 1.0647 1.1020 20 0.455 0.7413 1.0388 1.1342 1.2365 1.2858
40 0.782 1.3160 1.7980 1.9495 2.1079 2.1802 40 0.911 1.4830 2.0623 2.2471 2.4446 2.5394
60 1.173 1.9715 2.6649 2.8809 3.1048 3.2052 60 1.366 2.2220 3.0412 3.2993 3.5718 3.6996
80 1.563 2.6282 3.5481 3.8345 4.1328 4.2683 80 1.821 2.9661 4.0641 4.4105 4.7788 4.9550
100 1.954 3.2823 4.4053 4.7536 5.1155 5.2797 100 2.277 3.7064 5.0425 5.4620 5.9067 6.1191
120 2.345 3.9346 5.2510 5.6574 6.0790 6.2701 120 2.732 4.4454 6.0061 6.4938 7.0095 7.2554
(1)-3/3  (2-7/8  (3-7/8  (4-1/8  (5)-1/8  (6)-7/8 (1-3/3  (2-8/8  (3-8/8  (4)-8/8  (5)-8/8  (6)-8/8




‘2000 01/15-Ver 1.0

[\ [A]
W V] Q] [Al [1 Al
[Hz] | | [Kvar] [Q] [Kvar] L A [1 A miC-) 1
/ [KwW] | N cosp [KVA] [Al [Q] ( ™M z - -

103 SOVA 1931 210 v 1 4000 1000 T 0800 5000 060 | 1429 | .o e 10347 [V] | 10189 [V] | 13863 [A]
1L-2-01 50[Hz] e 2683 ) i 1863 (A) | 97.0407 [ 1 yppcap | MOCB-3P
-FoOL 60 50,0 [Hz] 50.0 [KVA] 11760 oo | 1000(17  500[m] 218 [A] 13863 [A] | 2.9593 [ 1 225 150

80 600[ ] 238.1 [A] 0.8820 21.7809 + j 8.8300 [mQ] 10189 [V] 1.1760 + } 0.8820 [Q]

103N S00KVA | 193 210 v 1 400,00 1000 | 0800 50000 060 | 14286 | . .o e 10273[V] | 10L09[V] | 137538 [A]
2L-2-01- 50[Hz] « 4876 17538 [A] | 96.2763 [ 17 oo | MCCB-3P.
FoL F10 60 60.0 [HZ] | 500.0 [KVA] 01176 oo | 1000(10  500[m] 218 [A] 137538 [A] | 3.7237 [ 1 - 225 150

80 600[ ] 2381. [A] 0.0882 21781 + j 1.0596 Q] 10109 [V] 0.1176 + 0.0882 [Q]

103 SOVA 1931 210 v 1 4000 1000 | 0800 5000 100 | 2381 | (oo e 10250 [V] | 99.92[V] 226,58 [A]
1L-2-01 50[Hz] « 2683 ‘ 22658 [A] | 95.1632 [ 1 o ey | MCCB-3P
-FoOL 100 500 [Hz] 50.0 [KVA] 0708 oo | 1000/1  500[m] 218 [A] 22658 [A] | 4.8368 [ 1 250 250

80 600 ] 238.1 [A] 05292 21.7809 + j 8.8300 [mQ] 99.92 [V] 0.7056 + j 0.5292 [Q]

103 SOVA 1931 210 v T 4000 1000 | 0800 5000 100 | 2381 | (oo e 10229 [V] | 10229[V] | 23195 [A] j
1L-2-01 50[Hz] e | 2904 23195 [A] | 974193 [ ] 00 o " 2.449  (cosp=0.80)
-FoOL 100 60.0 [H] 50.0 [KVA] 07056 oo | 1000(1  00[m] 23195 [A] | 2.5807 [ 1

80 600[ ] 238.1 [A] 05292 0.0 + 0.0000 [m<2] 10229 [V] 0.7056 +} 0.5292 [Q]
: ! SC 20KV.

1031 SKVA 13y 210 v 1 4000 1000 T 0800 5000 100 | 2381 | (oo T e 10334[V] | 10L10[V] | 189.04 [A] ar
1L-2-01 50[Hz] 2904 18904 [A] | 96.2818 [ ] | 00, [ | Mecs-3p
-FoL 100 60.0 [Hz] 50.0 [KVA] 07056 oo | 1000/1 500[m] 218 [A] 189.04 [A] | 3.7182 [ ] 250 250

80 600[ ] 238.1 [A] 05292 21,7809 + j 10.5960 [mQ2] 10110 [V] 1.0376 + 0.2594 [Q]
) ! SC 20KV.

1031 SKVA 13y 210 v 1 4000 1000 | 0800 5000 100 | 2381 | (oo e 10341 [V] | 10081[V] | 22859 [A] ar
1L-2-01 50[Hz] 2683 00 22859 [A] | 960076 [ 1| jpgeq (s | MCCB-3P
-FoOL 100 500 [Hz] 50.0 [KVA] - 07086 oo | 1000/1°  500[m] 18855 [A] | 3.9924 [ 1 250 250

80 600[ ] 238.1 [A] 05292 21.7809 + j 8.8300 [mQ] 10081 [V] 0.7056 +j 0.5292 [Q]
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‘2000 01/16-Ver 1.0

: . v v (Al
@ W v [l ! ! [Al [1] [A]
[Hz] j [Kvar] [Q] [Kvar] 1 [Al R [Al M- ) 1
/ [KW] N cos@ [KVA] A [Q] ( ) ( ) I\l 4 - -
! X X . 4.86 [V] 8046 [A]
33N SOKVA 33y 210 1 4000 1000 | 0800 5000 060 | 825 [, .0 —— 20725 [V] | 20
1P-2-01 50[Hz] e 2234 8046 [A] | 975545 [ 1 g0 py | MCCB-3P
-Fo1 60 50.0 [HZ] 50.0 [KVA] 20369 o000 600 1 500[m] 158 [A] ; 8046 [A] | 2.4455 [ 1] ’ 100 | 100
80 600( ] 137.5 [A] 15277 31.2022 + 7.8375 [mQ)] 204.86 [V] 2.0369 + 1.5277 [Q]
3¢p3Il 500KVA | 1 400.00: 1.000 | 0.800 50000 0.60 = 824.8 B B 205.46 [V] | 20302 [V] 797.38 [A]
2p-2-01- so[Ha] 3@3W 210 V o 0.2546 600V CV-T s | 95600 1 oo | woca-ae
FO1 F10 60 60.0 [HZ] 500.0 [KVA] 02087 o000 60.0 10,  50.0[m] 158 [A] | 79738 [A] | 3.3226 [ ] ’ 100 | 100
80 600[ ] | 1374.6 [A] 01528 3.1202 + j 0.9405 [mQ] 203.02 [V] 0.2037 + 0.1528 [Q]
33l 50KVA | 1 40001 1.000 | 0.800 50.00 1.00 | 1375 B 20550 [V] | 20158 [V] 131.95 [A]
1P-2-01 50[Hz] 3e3W 210y 2234 Lsart 6oov ?V T | o 13195 [A] | 959884 [ 1y g6 s | MCCB-3P
-Fo1 100 500 [Hz] 50.0 [KVA] 12221 oo 600 1] 500[m] 158 [A] I 13195 [A] | 4.0116 [ ] ' 225 150
80 600( ] 137.5 [A] 09166 31.2022 + 7.8375 [mQ)] 20158 [V] 1.2221 + 0.9166 [Q]
33l 50KVA | 1 4000 1.000 | 0.800 50.00 100 | 1375 B 20541 [V] | 20541 [V] 134.46 [A] ~
1P-2-01 5[] 3@3W 210 V P 15277 600V CV-T eso (A (108 [ 1 2158 (cosp=0.80)
-Fo1 100 600 [Hz] 50.0 [KVA] 12221 oo 600 1|  00[m] I 13446 [A] | 2.1872 [ ] i
80 600 ] 137.5 [A] 09166 0.0 + 0.0000 [MQ)] 20541 [V] 1.2221 + 0.9166 [Q]
SC 20KV
331 S0KVA 33y 210 V 1 4000 1000 | 0800 5000 100 | 1375 '\ .. 00 —— 20664 [V] | 20307 [V] 109.61 [A] ar
1P-2-01 50[Hz] 224 10961 [A] | 966995 [ 1 joq¢) ay | MCCB-3P
-Fo1 100 60.0 [Hz] 50.0 [KVA] 1221 o0 600 1  500[m] 158 [A] ‘ 109.61 [A] | 3.3005 [ 1 ’ 225 150
80 600 ] 137.5 [A] 09166 31.2022 + j 9.4050 [mQ)] 20307 [V] 1.7973 + 0.4493 [Q]
SC 20KV
331 S0KVA 33y 210 V ! 4000 1000 | 0800 5000 100 | 1375 | ... —— 20655 [V] | 20261 [V] 13263 [A] ar
1P-2-01 50[Hz] 223,00 ) | ) 13263 [A] | 96.4808 [ 1 10 00 | MCCB3
-Fo1 100 500 [Hz] 50.0 [KVA] = " 12221 oo 600 1| 500[m] 158 [A] | 10954 [A] | 3.5192 [ ] ' 225 150
80 600( ] 137.5 [A] 09166 31.2022 +j 7.8375 [mQ)] 20261 [V] 1.2221 + 0.9166 [Q]
-
; ( )
( w )
( w )
v w
e T ) mo
jwC
! )« 1]

[ . | -1 ) ( [A]
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| (90 |
[Q/Km] | [QQ/Km] [Q/Km] | [Q/Km]
3.0100
1.7100
1.0800
0.6260
0.3970
0.2400
0.1590
0.1210
0.0981
0.0765
0.0634
0.0520
0.0448

(90 1
[Q/Km] [Q/Km] | [QQ/Km]

12.0000

6.7600

4.3400

3.0100

1.7100

1.0800

0.6260

0.3970

0.2400

0.1590

0.1210

0.0985

0.0771




